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Equal error

® Equal
/1 Equal reports whether current error “err’ equals to error “target .
/1 Please note that, in default conparison for “Error”,
/Il the errors are considered the sane if both the "code’ and “text  of
them are the sane.
func Equal (err, target error) bool

Equal (target error) bool
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func Exanpl eEqual () {

errl := errors. New("perm ssion denied")

err2 := gerror. New("perm ssion denied")

err3 : = gerror. NewCode(gcode. CodeNot Aut hori zed, "pernission
deni ed")

fmt.Println(gerror. Equal (errl, err2))
frmt.Println(gerror. Equal (err2, err3))

/1 Qutput:

Il true
/1 false

| s

| serrorerrorerror

Il I's reports whether current error “err’ has error “target  inits
chaining errors.

/1 1t is just for inplenents for stdlib errors.Unwap from Go version 1.17.
func Is(err, target error) bool

Is(target error) bool
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1 errorsisls

func Exanplels() {
errl := errors. New("perm ssion denied")
err2 := gerror.Wap(errl, "operation failed")
fmt.Printin(gerror.ls(errl, errl))
fm.Printin(gerror.ls(err2, err2))
fmt.Println(gerror.ls(err2, errl))
fmt.Printin(gerror.ls(errl, err2))

/1 Qutput:
/1 false
Il true
Il true
/1 false
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